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1. Which of the following organization | 1. @6qig 6@ Q08 AIAGA QIQY QU6 ang

collects every data on poverty in India? QoY A°ge Q6 7

(A) MGNERGA (A) 9ARIRRUIGE] (MGNERGA)
(B) NSSO (B) r g 4q 8 (NSSO)

(C) SISRY (C) <9 6599 218 1?2 (STSRY)
(D) None of these (D) ewaat g6%

2. Whichofthe following helpstomeasure | 2.  §6qig aung 67l Q@Iat @1Rgy Ado6a aaae

the Poverty Determination? eQiRaN ?
(A) Poverty Gap Index (A) @@y aidiay geals
._ (B) HeadCountRatio (B) 9% 94 agale
TR,
(C) SenIndex , (C) 6aq goRla
(D) All ofthese (D) <ggee

3. In India, which of the following | 3. @6qIg AuIg 6995 RAGER QAIRGTR A&

determines the wage policy? ~ (wage policy) f¢a edarg ?
(A) Productivity (A) QQIREIRGI
(B) CostofLiving (B) 9168 Q4R Ry

(C) Standard of Living (C) s1e8 UQER AR

(D) None of these ey
(D) 6QladG gee

CSP-1/B 2



Which of the following three states in
India are considered the poorest?

(A) Bihar, Madhya Pradesh, Haryana
(B) Jharkhand, Bihar, Uttar Pradesh
(C) AndhraPradesh, Jharkhand, Bihar

(D) Madhya Pradesh, Haryana,
Jharkhand

Consider the following statements about
Atal Bhujal Yojana

(1) Itisconceived to arrest the rampant
overuse of groundwater in India

(2) Itissupported by the World Bank

(3) Itis a sub-scheme under National
Groundwater ~ Management
Improvement Scheme (NGMIS)

Select the correct statements
(A) 2and3
(B) land3
(C) land2

(D) ' All of the above

CSP-1/B

QIQeR A90IQ FIEe AR VIR R B6RIT
QURY 6906 2B ?

(A) QaIQ, MIYERd, 2R2IR!
(B) <o, {219, 299 9694
(C) 218g6Qd, SI9¢g, A1

(D) _aigead, 2QaIql, ¢Iese

‘2R YER 6INAI AHRER F6LIQ ABMYER
QeI @A | :

(1) 26NQ Q6% &9 QTR 6RRS AIR
9@ 6IRRI gge 62108

(2) @aéq‘m QgI9e! 9i9

(3) <Io10 QLR F% ARG IQIE €I
ZRIGER I2I IR RACAIRE

0Q F189YT Gda e |
(A) 263
(B) 163
(C) 162

(D) <asqig ane

[P.T.O.




6.

Which year is known as the year of
demographic divide?

(A) 1921
(B) 1920
(C) 1919

(D) 1918

Consider the following statement (s)
related to the reasons for low sex ratio.

I  High maternal mortality
II. Sex selective female abortions

III. Change in sex ratio at birth

Code:

(A) OnlyI
B) I&1I
(C) IN&II

(D) LI&II

CSP-1/B

cad o8a eaa-yyl dadla VISR F W6
QER00e 6gIReg ?

(A) 1921
(B) 1920
(C) 1919

(D) 1918

A 2gQIe 0 62T QA AFTER F6LIQ

| 8YYeR IR 9 |

L  ayeag q@ma.

I Qe §que G8e ey gaesul
II. g aAa6x AT 2gaIe Aaeee
6RIR :

(A) sqeel

(B) Tweell

(C) eIl

(D) L 1IweeIII




8'

Consider the following statements
regarding an aquatic ecosystem :

(1) Theshallow water zone around the
cdge of the lake is the littoral zone.

(2) Limnetic zone is the open zone

where phytoplankton grows in
abundance

(3) Profundal zone is the dark zone
where the light cannot reach.

Which of the statements given above is/
are correct?

(A) lonly
(B) 2and3only
(C) 1and3only

(D) 1,2and3

Which climatic phenomenon is
characterized by cooler than normal sea
surface temperatures in the central
Pacific Ocean?

(A) LaNina
(B) EINino
(C) Monsoon

(D) Tomado

CSP-1/B

ARG AQ6RE IAgl 660 T67IQ TR FeIR
@A

(1) 99 UAGCA YR AP FREAQ 6RAR
Noain 6ag (Littoral Zone)

(2) Limnctic Zonc 6268 92698 6960I6R
phytoplankton g9 @16 @@aira

(3) Profundal Zonc 6208 28@Ia 698
6AR0I6Q IEAIR ARBRAIN

Q69119 699 A3/a396e OR ?
(A) eqeq 1
(B) sqee26 3
(©) G@@é 163

(D) 1,263

6RQ19 g4IS ARIACTRER 66 AEAIG AL
ARIQE AR FIAAIG S10R QRN ?

(A) «@@el(LaNina)
(B) <@ @eql (El Nino)
(C) sslge

(D) <ig8e ¢ (Tornado)

[P.T.O.



10.

11~

Which of the following Articles of the
Constitution of India refers to protection
and improvement of environment and
safeguarding of forests and wildlife?
(A) 39A

(B) 43A

(©C) 43A

D) 51A

Which of the following are primary
pollutants?

(1) Carbon monoxide (CO)

(2) Sulphur oxides (SO,)

(3)

Volatile Organic Compounds
(VOCs) ;

(4) Nitric Oxide (NO)
(5) CFC’s
(6) Radioactive pollut'ants

Select the correct answer using the code
given below

(A) 1,2,3and6 only
(B) 1,2,4and5 only
(C) 3,4,5and6only

D) 1,2,3,4, 5and 6

CSP-1/B

10. QIGI0 QUG FEQI9 6R4 ARl QWEIRg 6

1L

QeRera 98l 6 068 06 aId adg 7 i
(A) 39A
(B) 43A
(C) 48A

(D) 51A

76719 68QgRe glafie gead ?
(l). Carbon monoxide (CO)
(2) Sulphur oxides (SO,)

3)

Volatile Organic Compounds
(VOCs)

(4) Nitric Oxide (NO)
(5) CEC's
(6)

Radioactive pollutants

A76Q QUIAINAR! €I NRLA 9T O] 2|
Qg |

(A) eaee1,2,366
(B) eaqe 1,2,465
(C) 6ae93,4,566

(D) 1,2,3,4,566




12. Consider the following statements:

(1) Meteorological Drought is based
on the impact of rainfall deficits on

the water supply.

(2) Socioeconomic Drought refers to
the impact of drought conditions on
supply and demand of economic

goods.

Which of the statements given above is/

are correct?

(A) 1only

B) 2 bnly

(C) Bothland2
(D) Neither 1 nor 2

13.. With reference to cloud seeding,

consider the following statements:

(1) It is a weather modification
technique that improves a cloud’s
ability to produce rain or snow by
introducing tiny ice nuclei into
certain types of subfreezing clouds.

(2) Aluminum hydroxide is the most
common chemical used for cloud

seeding.

Select the correct statement using the

code given below:

(A) 1only

(B) 2only

(C) Bothland2

(D) Neither 1 nor 2 -

CSP-1/B

12. {6919 R9LR% T9IQ !Q :

13.

(1) ai§aigee A9% FReaIglgsa egiale
gele ea¢

(2) QQ@e 6 2iEe AQF ke aIAgia
6RIGIE G QIS ARITS

QU6QIQ 609 28/2896e 0] ?
(A) s@ew 1

(B) e@eq 2

(C) evwalae?2

(D) 1 &2, eqlges

67a @186x (Cloud Seeding) @@ed &g
Aageea I91Q aq:

(1) <2499 aldae uIea 6199 Q2! 6749
Qdl Qe FAGI QF QI 6AAAIRIQ
H105R0E QA9 67Q 6816 QT ¢4 9]
R6Q

(2) aQfifan 26102, 67a Q1
6QITEER gAY QUAUDTS RS I

24

2CI6Q Q2ILINYS! 6QIF SR 9Q 0K
QARG QIS :

(A) eqea 1
(B) eqqq 2
(C) auala?2

(D) 1 &2, 69Tges

[P.T.O.



14. National Air Quality Index (AQI) is

launched by the government to monitor
the quality of air in major urban centres
across the country on a real-time basis
and enhancing public awareness for
taking mitigative action. In this context,
consider the following statements:

(1) AQI will have ‘one number, one
colour and one description’ to
inform the public about air quality
in a simple and easily
understandable format

(2) There are six AQI categories,
namely: good, satisfactory,
moderately polluted, poor, very
poor and severe 3

(3) The index considers eight
pollutants - PM10, PM2.5, NO,,
SO,,CO, O,,NH, and Pb

Which of the statements given above are
correct?

(A) 2and3only
(B) 1and3only
(C) 1and2only

(D) 1,2and3

CSP-1/B

14. <eeies @iai National Air Quality Index |
(AQI) g&ql /AR 609 84 ATAUEREq
A81ae AARIGAIEa 6 QI FA1AE 6 §IACSTRG

& QA9 AAY &R, 2 gaeTeq 89 28geasy
QI ! |

(1) AQI @ s, 9@ Q&r 6 4@ ader
6aa F0Ig Q19 AIR AR 6 ARG
Q6R IR T

(2) AQIQ6c3aa, Kl A8, 63T,
2 9980, 9QIg, YR AT G N
gQId

(3) 2 0IAR 0T geTEQ TOIQ Q6 :
PM10, PM2.5,NO,, SO,, CO, O,,
NH, 6 Pb

QICAUY 699 AFYER OR ?

(A) eeeR 263

(B) eaee 163

(C) e 162

(D) 1,263

sasians

o
e
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15, Which of the following best describes

16.

the term Deep ecologism?

(A) A philosophy that believes in
specific changes in daily lifestyle
of humans to minimize the dama ge
to the environment

(B) A philosophy that believes that
humans should radically change
their relationship with nature

(C) A set of sustainable practices to
increase fish production in shallow
ocean ecosystems

(D) None ofthe above

The ability of a population to increase
under ideal environmental conditions is
called

(A) Natality
(B) Carrying capacity
(C) Biotic potential

(D) Absolute natality

CSP-1/B

15. 'Deep Ecologism' @ 86419 664 8% @an

16.

QUE QIS X6 |

4R QFQ QIR TYIA Q6Q 6RRRR K19
cinieq GRg fqae Adeqg adsad
QF B0 RAQIEQ ARIAGBI F6Q

(A)

9@ 28R QIR YA Q6Q N8E, aR6Rd
Q2 AATER IR AR Qe 2

(B)

ALEIQ AIYEe 9R6246Q I8 QIR
Q8 @Qel gavIQ

(©

QUERIe 6R1adT gL

(D)

2led af6Qd 2ARGIER [RA°H QE_ gala
QUM @'4l QBN ?

(A) egae (Natality)

(B)

aasIee (Carrying capacity)

©

65 aiagy (Biotic potential)

(D) g4 #q96 (Absolute natality)

[P.T.O.



17. Which disaster is most likely to be

18.

influenced by climate change?
(A) Earthquakes

(B) Tsunamis

(C) Tropical cyclones

(D) Volcanic eruptions

Tidal waves are caused by which of the
following gravitational interactions?

(A)

Sun’s gravitational impact on the
Moon

(B) Earth’s gravitational impact on the
Moon

<©

Moon’s gravitational impact on the
Earth

Earth’s gravitational impact on the
Sun

D)

19 A square shaped hole is punched in a

metal sheet whose linear thermal
expansion coefficient is 1 x 102 per °C.
The size of the hole will decrease by

10%, when

(A) The sheet is heated by 10 °C
(B) The sheet is heated by 100 °C
(C) The sheet is cooled by 100 °C

(D) The sheet is cooled by 10 °C

CSP-1/B

10

17.

18.

19.

geelg 0GQER RISER 68 QRAIR g

621RaId ?
(A) «fen
(B) = A
(C) aigae Qe

(D) 21694 QRS

d6qIg 696 AIGSE A1 6919 gAIR 9T 24
(A) 98 QU6a YAIFA ARIKEE GNIQ
(B) ©1 a6a 9aIQ ARISIS gaIQ
(C) <astl eaea 99 Q AlILdE g9

(D) 9y aasa gaeia arIeda gae

NG IeQ T Q1218 68YS C1918 Q°gAIRE
9@ 1 x 107 9§ °C ciaasq 9o adied
98 QAT | FQQ AR 10% 219 IS,

646066R -

(A)

A8 10 °C Qiau 9iaq 99

(B) @q 100 °C qien qiae 99

(C) Q9 100°C QU QI g9

(D)

A8 10 °C Qian 21@1 g4

R AN IR o R Hahe L e e SR T W f T o s ns B R AR R e




20,

21,

22.

Which among the following has the least
thermal conductivity?

(A) metal
(B) semiconductor
(C) superconductor

(D) alloy

Symbol of material used in conventional
glass thermometers is

(A) Mg
(B) Hg
(C) Me

(D) Mn

The temperature variation of land near
sea is very less compared to that far from
sea. This is due to

(A) Sunray is not direct
(B) The seaabsorbs the heat
(C) High heat capacity of humid air

(D) Heat is reflected by ‘Fhe:‘;svf‘;i,i.:;.

CSP-1/B

20.

21.

22.

Q6AIQ FAIQ QLT ARY SIS adR@e!
a8 ?
(A) ug
(B) asadqiel
2o aQeIl

(©)

(D) @guig

QIGraGR QI6 ACIFCAER Qe YR YOIR
69Q® -

(A) & Mg)
(B) <8 (He)
(C) <aa (Me)

(D) <R (Mn)

Age0Iq GR6R 2T RN QRAIER G
231 gRAIGA CIAAIGIA SISy 926 Qe | 92IQ
Qa8 -

(A) QH4Ras8 goys qes
(B) aqe eaag 65198 @
(C) aig 9Ige @8 a|Ia [N

(D) eqa QgQIal gETRe 2182

[P.T.O.



23.  Which of the following statements are
correct in respect of ‘New Criminal
Laws’ enacted by Indian Parliament?

(1)

(A)
(B)
©)
D)

The new criminal law’ Bharatiya
Nyaya Sanhita’ came into effect
from April 1, 2023

Bharatiya Nagarik Suraksha Sanhita
replaced the Indian Penal Code

Bharatiya Sakshya Adhiniyam
came into effect from July 1, 2024

The Bharatiya Nyaya Sanhita was
passed by the parliament in
December, 2023

l1and 4
2and 3
3and 4

2and3

24. Pick up the wrong matching of Brand
Ambassadors for Government led

companies

(1) DiaMirza - Swachh Saathi

(2) PV.Sindhu - Pulse Polio

(3) Amitabh - City Composf
Bachchan Campaign

(4) Sachin -  MakeinIndia
Tendulkar

(A) land3

(B) 2and4

(C) 2and3

D) 1 .and 4

CSP-1/B

12

2

23. QIGER 2°AQ QIR 9616 6N TER taqyg

24.

ayean’ (New Criminal Laws) agqq,
R61Q 689 A8Igee O] ?

(1) «ga 1 e8¢ 2023 adica qeq

LIRS JYFAA ‘NUASIA R QT
QUAYLIQN 62!

(2) [GIG 6ARIN 6QIG, QINER RUAGTY
QIR gt A°LEI MG 62

(3) 1gmia 2024 @ ee1a ARy SEas’
QAARQT 62R

(4) @eanra 2023 6@ UAGIA QYA 26
Q°AEQ AIFe 68

(A) 164
B) 263
(C) 364
D) 263

AARIQ1 AALIFG QIR 6896Q AR UG
21f19ea (Brand Ambassadors) gée eae

Q|

(1) @aas ' - goqen

(2) aaag - 9dQQ ARG

(3) ufemeer - &g QEMNY IeHR]
City Compost
Campaign

(4) QBR €0QRRQ - 6AQ Q] adz
Make in India

(A) land3

(B) 2and4

(C) 2and3

(D) land4



25.

26.

Which of the following statements are
correct inrespect of ‘Earth Rotation Day’
- 2024?

(1) The Earth Rotation Day is
celebrated on January 8" of every
year

This day is dedicated to
acknowledging the discovery of
Earth’s shape

This day is also celebrated to
acknowledge Earth’s natural beauty

Honouring the discovery of our
Planet’s movement

2and 4
1and3
2and3
1and 4

(2)

(3)
(4)

(A)
(B)
©
(D)

Which of the following statements are
not correct in respect of Sheik Hasina
Wazed, who resigned as Prime Minister
of Bangladesh on August 472024 ?

(1) She was the Prime Minister of
Bangladesh for two decades

The students protest against Job
Quota turned into anti-government
agitation

The Supreme Court of Bangladesh
gave a ruling of 30 per cent
reservation in jobs for descendents
of those who participated in 1971

Bangladesh Liberation Movement.

She is the President of ‘Bangladesh
National Party’ supported by

Jamaat-e-Islami

land3

2and 3

1 aqd 2

2 and 4

2)

(3)

(4)

(A)
(B)
©)
(D)

CSP-1/B
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23.

26.

‘gaet aiesle §ea-2024 ‘Earth Rotation
Day’ a06ga16a G67IQ 622 AeMNgee aald 7

(1)

gaed aIgaIat 8 eIwea qaal 2Ieae
@94 aIFe g9

2)

Q291 2IgE ARV QUNEH 92 GeaT
QQE1Qe 62108

gea1a g19ee 6dledia Q198 ase4ea
XY M2 G9d AIFS 621RAIN

3)

217 gea 98 AGAR AR 98 Tad
ARIR SR

264
163
263
164

(4)

(A)
(B)
©)
(D)

2og 4 de 2024 6 QIPRIEQd IRz
JQQ AL 62R8S 66 2I1TR| GI6QT 63FER
F6qIa 699 ASIgER O] 968 ?

1)

6d QR QT UQ QIrPAICRIR JAUIFAR!
2Em

(2) QI19Q6Q ARG QYegl F9I6Q
QIGRIRIAIER FQEUR TR AARIQ-

Q6QRI ICRINDER RS 62Rl

3)

QraIead gde 6le 1971 qIrisad 93
ZICRINNER QTR A°FIAANST
Q°RIQ AR 1R 68g6a doaa@l 30
QT A°QAFE QIR IS FERERIA FIAXER

“4)

RAIG-QA-QQARIT AR ‘QAERN RUGIA
QR'Q 64 6LQES ANAT

163
263
162
264

(A)
(B)
(€)
(D)

[P.T.O.



27. The Paris-2024 Olymic Medals contain
metal from which iconic landmark?

28.

CSP-1/B

(A)
B)
©

D)

The Mont Blanc
The Eiffel Tower
The Arc de Triomphe

The Pantheon

Which of the following statements are
correct in respect of ‘Olympic Flame’?

(1)

()

(3)
4)
(A)
(B)

(®)

The Olympic Flame is the symbol
of Unity, Sportivity, and Victory

The Olympic Torch is lit in Greece
and passed from one to the next
torch bearer to reach the hosting

city

The 2024 Olympic Torch was lit on
16 April, 2024

The modern Olympic Torch Relay
was conceived by Dr. Carl Diem of
Germany ‘

2,3and 4
1,2and 3

1,3and 4

(D) AllFour
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27. au@q-2024 ARFQ 6AGINGES cqq .

28.

geleq dIg s AR ?

(A) @98 QI (The Mont Blanc)

(B) @ 6aR QG (The Eiffel TOWer)
(C) ea@ger (TheArcde Triomphe)

(D) @ai@eq (The Pantheon)

afiq FdIR 6H96R R6QIQ 694 AR
o ?

(1) 2RER AdIQ 6297 IQQI, 6ARAIR A9
G AREQ go1R

(2) 2R%e AR g9 RE 6QARAN I
N2l FEK0IQ JRQR! AdIRUIAE QS
2I6AFRRN ALQAEQ ALEN

(3) 16" @a 2024 ca 2024 2aAQ A58
JeRe 62IRAMN

(4) SR 03 QIR Bas QI ARER 26ife
AGIR AR AARGR! FQUAIRUM

(A) 2,364
B) 1,263
C) 1,364

(D) Qaag sisaidaie



29. Which qf the following statements are
correct inrespect of ‘Rashtriya Vigyan
Puraskar’?

(1) This Puraskar was instituted by
Government of India in the year
2023

(2) This award is given in four
categories

(3) Vigyan Team Puraskar is given to
five teams

(4) For the year 2024, in the field of
Space Science and Technology
‘“Vigyan Yuva Puraskar’ was given
to Four Scientists

(A) land3

(B) 2and4

(C) 2and3

(D) land2

30. Which Bank was included in the 2024

‘Fortune Global 500 List’ for the first

time?

(A) HDFCBank

(B) State Bank Of India

(C) ICICIBank

(D) AxisBank

CSP-1/B

15

29.

30.

‘AYID IRIF YRR’ 61Q6a B6gIg 699
A2qyglee OR 7

(1)

g geia @Iee daries Qe 2023
AdLIex goql *QUAIRYR

2)

9 9eala QI6IF Qdea 9@l
AR

3)

dIEe TA] IRIF T geea geie
QAAIRAN

(4)

ALIRIE BRIS G gy eagea 2024
od AIR S8 Q4 IRGAG. RIR Y
JeaIa’ geIe ealaml

(A) 163
B) 264
) 263

D) 162

2024 6@ 602 IR TAGR 6qIIN-500 GRS
(Fortune Global 500 List) 6@ 2899
82RI ?

(A) W8 d R
(B) 686 QUK 2 a8l
(C) asuedaR VIS

(D) <W§q s

[P.T.O.



31.

32.

Which of the following statements are

correct in respect of Union Budget
2024-25?

ey
(2)
3)
4)

(A)
(B)
©)
(D)

Total expenditure projected at
Rs. 48.21 Lakh Crore

Receipts excluding Borrowings
Rs. 32.07 Lakh Crore

Fiscal Deficit projected at 6.8 %
of GDP

Net Tax Receipts Rs. 34.83 Lakh
Crore :

land 2
2and 3
land 4
3and4

Which of the following statements are
correct in respect of ‘International
Everest Day’-2024?

(1)

(2)

(3)

“4)

(A)
(B)
©
(D)

May 29* of every year is observed
as ‘International Everest Day’ in
memory of Tenzing Norgay

This day was first observed by
Nepal in the year 2008 in
commemoration of Tenzing
Norgay who passed away on this
day

Since its inception, this annual
observance has become a global
celebration of human endurance

resilience and the spirit of |

exploration

Edmund Hillary was a Swiss
National

2and 4
1 and 2
1and 3
3 and 4

CSP-1/B
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31.

32.

gRag esed - 2024-25 adiegaiea Feqig

(1

(2)

3)

4
(A)
(B)
©
(D)

699 A9YgeR O] ?

6¢lIe Qia 2eam 62a8 48.21 Qa sqip
o

A e1e AgQIe gig aqqia 32.07
AR 6RIT ol

$.5.5.(GDP) @ 6.8 % 2ida dae
(Fiscal Deficit)

299 Q29 91§ 34.83 QA 61T
162
263
164
384

2BFIG16 96069E §9a-2024 gaaea G649
699 A84gee Qaid ?

(1)

(2)

3)

4)
(A)
(B)
(©)
(D)

606 Qeda ¢.G6a gfed a1 29 &q
ABRISIE IEQEAY GG AITE 621Nl

66G" @65 A4 Qg 9@ qgyead eagee,
Cla 9.96Q gaeca 2008 adglcq €&
a9 899I QI ARG cRIRAR

N2IQ 9OIRIRg 9@ QiFe alge aieeial
68QY, Q@el G 26QuaR Qg Q6gI1eQ
QIR aQadie sRgR

gFE YRIR 6288 gReaILQ ITEe
264

162

163

364



33. As per the Data released by Ministry of

34.

3s.

Health fa.nd Family Welfare, which of the
following States in India topped the
country in Organ Donation in the year
20237

(A) Karnataka

(B) TamilNadu

(C) Maharashtra

(D) Telangana

Which of the following statements are

correct in respect of ‘Goldman
Environmental Prize’?

(1)
year 1989 by American couple
Richard and Rhoda Goldman

This Prize is awarded to honour
grassroots environmental leaders
of Global recognition

Prafullah Samantara is awarded this
prize for the year 2024 from India

2)

3)

This prize comprises of a cash prize
of $5,00,000

(A) land2
(B) 2and3
(C) 2and4
(D) 1land4

4)

The name of the Artificial Intelligence
(AI) powered News Anchor developed by
the ‘India Today Group’is

(A)
®)
©
D)

Sana
Persana
Baani
Anania

CSP-1/B

This Prize was established in the
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33. Qigi 6 AAQIA ARG ARGIRG QA JRI4

34.

3S.

aiael eay 2gaial 2023 6a QUeeq 692
qigy agele (Organ Donation) 68g6Q
qaleg Q&8 ?

(A) edice

(B) ofeelg

(C) «agiQg

(D) ecesaeial

caIneaye a8eed gaala (Goldman

Environmental Prize) 63g6a @699 684

F3ugee O] ?

(1) <@ geaia 1989 6a 2i6AaRIa G0I¢
8 621Q 6AINEMUIR QHRE QI gedl
ARl

(2) Qa99x Tqg1a AR694 gAAIRIAT QST
geries agIeled 8 ga’ia 9eIR
RAUAIRAN

(3) 2024 od QI9 WS IR AASAUF,
92 gaIa geie 9aIaieg

(4) <@ geiee 2d Qi aag 62@8 5
R ORI

(A) 162

B) 263

(C) 264

(D) 164

Q821 g6e ga QIR 8¢Eic Q@a gFaal (AD)

A9g QAR BUIFAR QI
(A)
(B)
(©)
(D)

Qaiql (Sana)
ag@iql (Persana)
Qi§1 (Baani)

2ea4l (Anania)

[P.T.O.



36- Which of the following statements are
Correct in respect of “Vantara’?

L.

(A)
(B)
©
D)

37.

It is national initiative for
afforestation

This initiative was launched by
Reliance Industries and Reliance
Foundation

It is started in Green Belt of
Jamnagar Refinery Complex,
Haryana

Vantara also aspires to become a
leader in wildlife conservation

1 and 2
3and 4
2and 4
land 3

Which of the following statements are

correct in respect of ‘Alliance of Sahel
States’?

(1)

)

(3)

4)

(A)
(B)
©)
(D)

CSP-1/B

It is a Confederation formed
between three countries namely
Mali, Niger and Burkina Faso

It originated as a Mutual Defence
Pact created on 15" November,
2021

All the three member States are
former members of ‘the East
African Community’.

The Confederation was established
on 6% July 2024

1 and 2
3and 4
2and3
1 and 4
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36.

37.

‘aqclal’ afegalsa G619 694 ASgEe

o] ?

1.

(A)
(B)
©)
D)

QE6QINE/SR1RAE 6TSER 121 9@
Q1010 9968d

FNNAY R9ER 6 AMNRY TIREELAR
QA 9% 9Q68d QR 6RIRMI

QIfeda aaasial @esg (Jamnagar
Refinery Complex) 20@i91Q a9e
QRAER Y2l QR ARG

QR4eg A° QT8 6896 AN QAR FaIR
R0Q AN ARSIQ A AP ARRIY AGE

162
364
264
163

6eM ARGFRa 6a¢ (Alliance of Sahel
States) aGegaica F6qlg 64 caeugde

o] ?

(1)

()

3)

4)

(A)
(B)
(©)
(D)

iR, AINEEY B QERI TIeAl QIS 5B
6991 67R 12l IR RN

15 asana 2021 s 92l 9& aigde
g5eql 98 QU6A FgAIR Q2

9¢ g caIgia ¥@ 57 geay aig
6288 Q9es aoy

M2 A67RR 6 QRIR 2024 s gEFe
cRIRAM

162
364
263
le4



38. When was Mahatma Gandhi declared

“Father of the Nation™

(A) 20™ July 1946

(B) 12"™ August 1947

(C) 15" March 1948

(D) Never, officially

39. India, as everyone knows, is a multi-
lingual country. Pecople ofien know three
or more languages. In this context, which
of the following statements is more
correct?

(A) In India about a quarter of the
population is bilingual; and about a
tenth is trilingual

(B) InIndia about half the population
is bilingual; about one fifth is
trilingual.

(C) In India about a third of the
population is bilingual; about a
tenth is trilingual.

(D) InIndia about three fourths of the
population is bilingual and about a
halfis trilingual.

40. Bhatri, Bhuiya, Desia, are analogous to

P.  Bagri, Bhateali, Kahluri

Q. Chakma, Haijong, Rajbangsi

R.  Awadhi, Bagri, Bhagoria

S.  Gujrau, Pattani, Ponchi

(A) PandQbutnotRandS.

(B) QandRbutnotPandS

(C) Ronly

(D) P,Q,RandS
CSP-1/B

e

38.

40.
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ARIFIGING 660 ‘RIEQ Faa' 6RIR 6aIa4!
FARINARN

(A) 20qa@ 1946
(B) 12uag 1947
(C) 15¢ai5 1948

(D)

2T QI6R, 6R6Q Q64

QAUAG, 60T AGRIV1 624 6NN AAEY 16T |
FEQARIQAE ARIQGEGE R | AR AT QIR
Qa8 | R 9d6gaIeq §69I9 699 @@% Ok
26e 7
(A) QUAG FFRAWIRQ IR GGELHERIR FQIST;
9Q° IR QIAI°e GRS

(B) QA6 89Q°3HIQ gIa 2l RIS, gt 4R
QEAIE GRUAN

(C) @6e eRA°WIQ IR G118 YRIT; I
e QEAIE GRUAN

(D) Q90 KKA°WIR T7 0Qdrd YR @
QI 2RI GRUV1

281, 9@, 6282 6aa QR A8 AN ?
P. Qi «ueeq, @@@@I

Q.
R.

SRAl, AARE, QUKL
@1, G, UeR
S. QRaIe, agIR, 6B
(A)
(B)
©
(D)

PeQ&gR G S qes
QBRGEGPGS gex
6Ree R

P,Q,RaS

[P.T.O.



41. What was the Lahore Resolution (1940)
about?

(A) A united homeland for Muslims
(B) Supporting the British war effort
(C) Demand for linguistic provinces

(D) Allofthe above

42. The demand for linguistic provinces was
first floated to ensure that

(A) People speaking a particular
language got recognition.

(B) For bringing the administration
closer to the people.

(C) To promote linguistic division of
India.

(D) To reduce conflict within the
country. '

43. The British East India Company
considered itself to be the paramount
power in India after

(A) Defeating Sindhia in 1803

(B) Signing a treaty with Ranjit Singh
in 1809

(C) Defeating Bhonsalein 1818

(D) Suppressing the uprising of 1857

CSP-1/B
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41.

42,

43.

Qieaix ggie (1940) @'a aal 7

(A) QERAIRAIRE IR IR I!G QIAgIe
(B) §oa ge e@iag ande

(C) QEIREe geesaix @@

(D) <asqig ag

QAUSIGRR gEQd F08Q QI gaee 6x9d AR
6QIRAR

(A) 6015920 QU KIS ERIVAINT 18
geie

(B) saeqes aIeq gaIaeg aegiael
(C) weeq auItae Jaeeg cgigies .

(D) sqadieca 9@g 219 Qasl

QIALER 6R6Q0IQ §T9 ag adal it Geg
I6RIP AFIGI 608 ToIQ *GaRl ?

(A) 1803 sa JRaig aqig @@

(B) 1809 6@ cated e ag qigaial QI8
!Q

(C) 1818 sa saiaeng aARIg @@

(D) 1857 ¢a Q6qI2 ofe /F



44,

45.

46.

(D)

The first modern judicial court in India

presided over by Elijah Impey was set up
in

(A) Murshidabad
(B) Patna
(C) Kolkata

(D) Dhaka

The motto, “Yato_dharmastato Jayah™has
been adopted by

(A) TheLok Sabha ofIndia

(B) TheRajya Sabha ofIndia

(C) The Constituent Assembly ofIndia

(D) The Supreme Court of India

“ an institutional arrangement to
keep Science, Society and Industry on the
same page” was said about

(A) ThelTs

The Department of Science and
Technology

(B)

(C) TheTIFR

TheCSIR *

CSP-1/B
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44.

46.

IR QEAS JUFGIEA NASA QAN 2ARYER
QUPR ATING 6RA0IEA YITS FAULIQYN! ?

(A)

qaqieie

(B)

]

©)

€M@l

(D) <

‘a66l Ad gesl a8’ QIRIT QIR F2d
QUG ?

(A) QUEEQ cAIRAN

(B) «ueea qieyasl

(C) «ueea aRNFe 9l

(D) «eeq Q6T MIAIRA

aRIA, AAI B g AAIRYFIER IR0 QYRIQ
R IGIIRR Q! 6QIR QRIAINT |

(A) a2
(B) [mIe G 63ade I
(C) TIFR

(D) CSIR

[P.T.O.



47. Direct Action Day refers to

D)
48.
49.
(A)
(B)
©)
D)
CSP-1/B

(A)

(B)

©

' The day ear-marked by the Muslim

League for taking direct action to
assert their political demand for a
separate homeland for Muslims

The day ear-marked by the Indian
nationalists to oust the British
from India

The day ear-marked by the
Scheduled Castes Federation to

protest against social injustice

All the above

One of the earliest mentions of
Bharat_varshaisin

(A) The writings of Ptolemy

(B) The writings of FaHien

(C) The Hathigumpha inscription

(D) TheAjanta Caves

This place is known as the city of caves

Ajanta
Ellora
Udayagiri

Gharapuri

22

47.

48.

49.

geia edaed aZem @'a QI ?

(A) gaRaIeAIes aIQ AR QAR QR6Q
JARARG QIal geid QY @RI 6aR
o%e G4

(B) @09 @°6aaq. 201aS AN AAB1E.
QIelaeReIaes QA T8 §ed

(C) Qe 2Qya F6ARIER 2gqoe |R
ARIA9 QIR 50 @ed

(D) «ueaig A9

QAREFQ gISIRGS SUGTIQ 6RVIEA 62IRT ?

(A) ceadia endll

(B) oRaes sasl

(©) QeIgst 2@ens

D) aeelgsi

6RQ LR ‘YN AR Q6D Qde ¢
(A) agal

(B) <gsqual

(C) eeudd

(D) aegd




50. “Kattakacaves” referred to, among others
P.  Hathigumpha and Ranigunmpha
Q. KumariParvata
R.  Alakapurigumpha
S.  Mahendragarh
(A) P,QandRbut,notS
(B) PandSbut,notQandR
(C) PandQbut,notRand$S

(D) P,Q,RandS

51. TheKalinga Prize is given for
(A) Achievements ofa scientist

(B) Achievements of a science
- popularizer

(C) Achievements of a geologist

(D) Achievements ofa mathematician

52. The achievements of Pandit Gopabandhu
Das are in the field of

(A) Science
(B) Law
(C) National Movement

(D) Allof the above

CSP-1/B
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50.

51.

52.

‘QER GAIFIRI A 6RAAYY IR ?

P.

Q.
R.

S.

(A)
(B)
©
D)

QIB1gFI B QUGS
7R ASG

2ARIAIN I
62699

P,QBR &g S gs¢
PeSag QB8R gse
PsQ&g RaSgse

P,Q,RaS

QR U 61UAIR QDI ?

(A)

B)

©
D)

@64 6ERITAT 90Q

F64 ARIRg 6nedd *A2AQ FTcaaT
Qe

@68 QURELE 967

@68l ASione QoQ

6910QY QI 699 6TGER YOQ IR FRASR ?

(A)
(B)
©

ane

21NN

@A1e 26N

(D) @asaig Qg

[P.T.O.




53.

54.

S5.

Zero Casualty At Any Cost (ZCAAC) is
a principle followed by

(A) The United Nations
(B) NATO
(C) Government of Odisha

(D) SAARC

Porus is said to have gifted Alexander a

box of mangoes

(A)
(B) diamond
(C) block of steel
cotton shirt

(D)

The famous architect Bisu Moharana is
associated with

(A) SunTemple at Konark.
(B) TajMahal
(C) Brihadeeswara Temple

(D) Rathas at Mahabalipuram

CSP-1/B
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53.

54.

Ss.

6064163 qRYea gay ANl (ZCAAC)
M3 @9 ged Q§?§ g

(A) §Fe aead
(B) «i651 (NATO)
6G4l 9o

©)

(D) ad(SAARC)

26RRNILIAG 9 éea“ QU2AQ 6QRYER ?
(A) aned ¢e
(B) aial
©)

Qel 68

gel Qig

D)

gde §g1/9a8 @9 a2194I Qe g Qq9e ?

(A)

6RIAINQ AInda
(B)

ClRAEm

©)

Qe62gQa fRQ

(D)

ARIQRIYAA Qe

2



56.

57.

38.

At the end of the Civil Disobedience
Movement Gandhiji took out 5 padyatra

against untouchability. His first padyat
was undertaken in 1934 in pacyelta

(A) Nagpur
(B) Noakhali
(C) Jharsuguda

(D) Thanjavur

The infamous Rowlatt Act was opposed
by Indians because it provided for

(A) trying of sedition cases without a
jury and holding suspects in jail
without trial

(B) opposing the Indian national
movement

(C) hampering the economic growth of
India

(D) all ofthe above

Which of the following bauxite depo_sit
is considered as the largest one in India?

Riasi and Poonch deposit (Jammu
& Kashmir)

(A)

(B) Panchpat mali deposit (Odisha)

©
(D)

Gandhamardan deposit (Odisha)

Balaghat deposits (Madhya
Pradesh)

CSP-1/B
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56.

37.

58.

2198 2AIGY ICRIRFA AT T, ARSI
F6QRIER IR TRUIG 56w | Qima Jad
aegigl 1934 ¢q 6220 c2IRgM ?

(A) <999

(B)

qaISIR

(C) <iegye

(D)

QI

ago agime, 21ee (Rowlatt Act) q
QASIAFIEH 629N A6 KQ2UER ?

Gola 391 69496912 AIFRI G BRI TAIR6R
qRgg QAUSE

(A)

QAUAGIS QGG A°GIF1G FEA

(B)
(C) @u9ea e IRFER QI
(D)

QQ6RIQ A9

BIAYe RIS ga AIR] 6RAF RUAGER
QeQ QR TR [N ?

(A) Q2@ 6 gg a°g2 (|Ig 6 QIFIR)

(B) <sae ad age (6g4a1)
©

genise acge (6g4l)

QRIS A°ge (A2GEas)

D)

[P.T.O.



59. Which states share the Tungbhadra
Multipurpose project?
(A) Andhra Pradesh and Karnataka
(B) Karnatakaand M.P.
(C) OdishaandJharkhand
(D) Tamil Nadu and Karnataka

60. Match List I with List II and select the
correct answer using the code given below
the lists:
List1 ListII
(@) Chinook 1. USA.
(b) Sirocco 2. Australia
(c) Brickfielder 3. Europe
(d) Mistral 4. Africa
Codes :

(@ () (¢) (@

A 1 4 2 3
B) 2 3 4 1
C© 3 2 1 4
M 4 1 3 2

61. The only landlocked country in south-
east Asiais:
(A) Laos
(B) Thailand
(C) Vietnam
(D) Cambodia

CSP-1/B
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59, QEIOQ AP gREq, €A% AIRY aIE aIEIB ?

60.

61.

(A) uIggead 8 agice
(B) «dies 6 Augeas
(C) 6546 Qe

(D) cifiaag 6 adiee

/

|
f

/
oiRal I ag oifal [ @ a6dic @Q G Glnwig
P6R RUMIRAR! 616 QR @6 A0R @@a
oAe @9 | f

ol I eime I1

(a) PR 1. g91g 216A3%
(b) Qeaisql 2. 6gmal

(c) @] e 3. geqg

(d) Gam 4. 21g

691¢ (Codes) :

(@ () (¢ (@
a1 4 2 3
B 2 3 4 1
€ 3 2 1 4
4 1 3 2

6097 @86-99 1A QORERTG 699 6208
(A)
(B)
©)
(D)

al[ele]
2ARNE
AIRRIA

QeRIGlI




62. Match List I with List [j and select the

63.

pelow the Lisg; = 1 <0de given

List I List I

(Australian States) (Cities)

(a) Queensland 1. Adelaide

(b) SouthAustralia 2. Brisbane

(¢) Victoria 3. Kalgoorlie

(d) Western Australia 4. Melbourne
5. Sydney

Codes :

@ @b (© @
Aa 2 5 4 1

® 3 1 2 4
(©) -2 pals s 23

1 5 2 3

Which one of the species is an example
of extinct species?

(A) Asiatic Cheetah

®)
©
™)

Black Buck
Crocodile

Indian Wild Ass

CSP-1/B
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62.

63.

oiRel I ag eoRel I @ 9619 |1 G QIR
Q6% FUILIAYS 6918 ML 27 0] 2|
°4e @ |

cime! I oiRel IT
(aegRaAMGS) (L)
(a) qRgMYIS 1. aeenIae
(b) ofazsg@Ral 2. IR
(c) @eqidal 3. aaga
(d) afiaasghar 4. cameleg
5. dg@

6xig (Codes) :

@@ ® () @

@A 2 5 4 1
@®) 31y 4
(C): 2in st vird 1053

D)zl w5 i 28~ 3

AR JLI0R FRIQ 6246 Y gRIS AILad
266 ?

(A) 39EQ o6l
(B) Qg q4
(C) QA

(D) «ueeta Q&Y qrl

[P.T.O.



64. - Which one of the following pair is not
correctly matched?

Month

(A) June

(B) December

(©) March

(D) September

Position of Sun

Midday Sun overhead
at tropic of Cancer

Midday Sun overhead
at  tropic  of
Capricomn

Midday Sun overhead
on Equator

Midday Sun overhead
on Arctic Circle

65, Which cne of the following term
describes not only the physical space
occupied by an organism, but also its
functional role in the community of

organisms?

(A) Ecotone

(B) Ecological niche

(C) Habitat

(D) Homerange

CSP-1/B

64. F76Q TN CABAIRE AIER 624F g

6ARR 62 7
g gauIs ge

A) g2 A4%2q 9dY Ra09130
78 Q969

(B) @sane auyGed 94y A99g139
ge 2959

(C) ag auyeed gdy Sgesad
Q469

(D) eg6gne ay@eq gdy geqaq

182 Qde

65. TARYe AIQ 62AT 6CIGN B1Q QA 6999

FIQ10R g2g AQeY ¢RI 26a /I, 12l F1eQ
QAER 2R AU 239 FANQ Ay 2RI 96a |

(A) «6a1691R (Ecotone)

(B) esqisai@qin & (Ecological niche)

(C) z<Qge

(D) q2 9eQQ

28



s

667

67~

In the grasslands, trees do not replace the

grasses as a part of an ecological
succession because of

(A) Insectsand fungi

(B) Limited sunlight and paucity of

nutrients

Water limits and fire

©

None of the above

(D)

With reference to the food chains in
ecosystems, which of the following
kinds of organism is / are known as
decomposer organism/organisms?

1. Virus
2. Fungi

3. Bacteria

Select the correct answer using the codes
given below.’

(A) 1only

(B) 2and3only

(C) 1and3only

(D) 1,24nd3

CSpP-1/B
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66. Q99fca Q¥ AIA Y @ QIRgee AR

67.

49 26 QUES TBER F6Q AIE KIAE -

@1e 6 o (Fungi)

A)

gg 9€iGa4 6 60ISR 8RQ ARIQ

(B)

(C) qgew6eq

QUERIg FRIIQ 6REE §6%

(D)

asel daq (Ecosystem) 63 €4 4@l
ZIIQER, §F6Q QAULIRAF R1RAIRE Q.
6Q4C 2AAGR 918 AR KNS ?

1. «eaq
2. & (Fungi)
3. @qle@a:

FI6R AR 6R1¢ QYR /Q A0} AR PR
QQ |

(A) exea 1
(B) esee263
eeen 163

(C)

(D)

—
1o
G3
(93}

[P.T.O.



68/

69,

Which one of the following is the
process involved in photosynthesis?

(A) Potential energy is released to
form free energy

(B) Free energy is converted into

potential energy and stored

Food is oxidized to release carbon
dioxide and water

(€)

(D)

Oxygen is taken, and carbon
dioxide and water vapour are given
out

Consider the following :
1.  Carbondioxide

_2. Oxides of Nitrogen
3.  Oxides of Sulphur.

Which of the above is/are the emission/
emissions from coal combustion at
thermal power plants?

(A) 1only
(B) 2and3only
(C) land3only

Dy L,2and3 ...

CSP-1/B
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68., BeRee gaal AIee Al 6R4UT aeeIdsadeg

69.

23G9 6% |
(A) G999 g0 95 Q69 Fde 99

(B) 99 4§ Fee 9d6a 9969 949 ¢
i Q62

(C) zaaig 6 a? Gde 29U QY
UFPIAR 6

(D) aqgeie ged ealdid 99° aAFialg 6
QFIAER AL QAU

fIRYe @ 919 /Q |

1. aeneeiq

2. QIR6ZIERR Q AQIRE
3. angq o agee

QUEAIY AU 67GT AFIR QIGIR YI96Q saIaR
QeRg Rde g9 |

(A) eeeq 1
(B) 6aew 263
(C) ¢aen 163

(D) 1,263



70. Whichofthe following carthquake w

‘ aves
are more destructive

at the epicenter?

(A) Swaves

(B) Pwaves

(C) Rwaves

(D) Lwaves

71. Jhumming cultivation is known as
‘Kuruwa’ in which region/state?

(A) MadhyaPradesh

(B) AndhraPradesh

(C) North-eastern Region

(D) Jharkhand

CSp-1/B

70.

71.

AORYe AUYg, 698 QAN QG ERFER

2R AT 6Q 7

(A) 49 eoa

(B) 4 cow

(C) ag casr

(D) 4q cawr

689 28e/aIei6a ¢A° e1e (Jhumming
cultivation) “QQal” (Kuruwa) qinsa

RQIgEl |

(A) aangees

(B) 8gsad

(C) eaa-qs-28e

(D) «iese

[P.T.O.



72. Match the following :
(@) Loess 1. Riverdeposits
(b) Moraines 2. Glacier
deposits
(c) Gravels 3.  Wind deposits
(d) SandandClay 4. Seadeposits
Codes :

@ ® © @
a1 2 3 4

B 3 2 1 4
< 4 1 3 2
3 4 1 2

73. Which of the following terms were not
the terms of 'August Offer - 1940'?

(1) ANominated Indian Body would be
formed after the War to frame the

Constitution

(2) Dominion Status was not the
objective of India

(3) More Indians representation in
Viceroy’s Executive Council

(4) AnAdvisory War Council wasto be
established

(A) 2and3
(B) 3and4
(C) land2
(D) 1and%

CSP-1/B 32

1=

72.

73.

FaRNe @ 6710@ @R |

(a)
(b)
(c)
(d)

EmINg 1. Q1 a°qeie
6F116QR 2. B2 AQLIe
qleam 3. Qg A°qe1e

QIR 6 aig 4. 99e/dI9Q A°ge1e

eQle :

@ ®) (©

a1 2 3 4

B 3 2 1 4

©

D) 3 4

4 1 3 2

f—
[\

FARYe 692 A89Fe ‘@aq ggle 1940’
(August Offer - 1940) @ aegg ge< ?

(1)

()

G3).

4)

(A)
(B)
©
(D)

LIAEQ 661G 1691916 QURSTS 9age
QAR F0F QIR AQIFS

qA°aIAC TSI UAGQ ARG 6% -

QRAAAS QYT afTeeR AN
QAAWILS gEFQ

€AY Q& QUEQ Y QTR Q0f
RAUAIRARI

263
364
162

164



74. Which of the following statements are

not correct in respect of ‘Constituent
Assembly’?

(M

(2)

3)
4)
(A)
(B)
©)
D)

75.

Elections to the Constituent

Assembly were held in July-Au
1946 B

The Indian National Congress won
208 Seats

Muslim League won 73 Seats
Princely States won 93 Seats..
1,2and 3
2,3and4
1,3and 4
1,2and 4

Which of the following matchings are

not correct in respect of Schedules and
Subjects in Indian Constitution?

Schedules Subjects

(1) I Emoluments for
C &AG ofIndia

2) m Allocation of
Seats in Council
of States

(3) VI Administration
and Control of
Scheduled Areas

4) IX First Amendment
of Indian Constitution

(A) land2

(B) 2and3

(C) 2and4

(D) 3and4

CSP-1/B
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74.

75.

‘afiaide a«r’ (Constituent Assembly)
adegaisa, 76719 609 299Fe OR g62 7

(1

2)

(3)
(4)
(A)
(B)
©
D)

afiMBe aal a9, 1946 gRIR-2191g69
G199 62IRYR

Q1D 1919 @°69d, 208F zige
Feal

qdRa@a 735 21ae el
qeRIe 28 93T 219e G
1,263 |
2,364

1,364

1,264

BIAYC 622 6TBgER UG QRIS SRR
8 Qa0 adsgaisa OR 96¢ 7

o)

(1)

)

3)

(4)

(A)
(B)
©

RS

Llme| R0

II eieea C6 AG o
6ReR

11} QR AATVIYFRE
2199 949

VI AYYOP 6898gEREQ
ga19e 6 {9a49

IX RUALIA QAU gaA
QcaRIe

162

263

264

364

(D)

[P.T.O.



76. Which of the following statements are¢
correct in respect of Electoral College
in India to elect President of India?

(1) -Itconsists of Elected Members of
Legislative Assemblies of
National Capital Territory of
Delhi, and Union Territory of
Puducherry and were added to
Electoral College by 70®
Constitutional Amendment

(2) The number and values, of votes |
are based on the population of |
1971 Census of India as per 42
Constitutional Amendment

(3) 84" Constitutional Amendment
fixed the values of votes based on
current population Census 2011

~(4) The entry of MLAs of NCT of
Delhi and Union Territory of
Puducherry came with effect from
June 1, 1993

(A) 2and3
(B) land4
(C) land2

(D) land3

cSp-1/B 34

76, QIaeQ QIgaES ATIeR IR AEREIAIR aag

gaere 76919 609 2896 0K 7

(1) -gs@ 6@QaIde ER Jg69a 6 RI1G

)

(3)

4

(A)

(B)

©)

(D)

QRG] ZER GRIQ 890 QuIRqe
sege 6 ARUKQ 70609 Q°6a1ug
29I RENEQIRIRN FENRY A6ARS

qfiaiea 4266 Q6 2AQAIT g
1971 9264G1 2RIQER ERAITR A°HY| @
a4 8qde

afdiea 84 eqa acsaluge, 2011
FRTGRI ARIAER ERNTAT FRY Fa198

1993, ga 1 . @q1e NCT 6 684138
JEQR YLEeNa QUINRT 2lGa

263

164

l1g2

1a3



7 which of the following Statements are

78.

correct in respect of the genegi

«Doctrine of Basic égtru::i:: tgi‘

Constitution’?

(1) This doctrine was first propounded
by Supreme Court in Shankari
Prasad Vs Union of India Case

(2) In Sajjan Singh Vs State of
Rajasthan Case Supreme Court
held that Parliament could amend
any part of the Constitution

(3) InGolaknath Vs the State of Punjab
Case Supreme Court ruled that Art.
368 only lays down the procedure
to amend the Constitution but does
not give an absolute power to
Parliament to amend any part of the
Constitution

(4) In the case of Waman Rao Vs
Union of India Supreme Court set
aside the basic structure doctrine

(A) land3

(B) 2and3

(C) 2and4

(D) 1and4

Which Four Articles of Indian
Constitution among the below given
Articles were added to the In.dlan
Constitution by the 42" Constitutional

Amendment Act of 1976 ?

(1) Art.24(A) (2) Art.28(A)
(3) Art.39(A) (4) Art.43(A)
Art. 48 (A)

(5) Art.46(A) (6)
(7) Art. 144(A)  (®) Art. 323 (A)
(A) 1,3,5and7
(B) 3,4,6and7
(C) 2,5,7and8

(D) 1,3,5and8

35

CSp-1/8

77. 36719 604 2@qEe ARG 6TaR @8I ASIS

78.

(Doctrine of Basic Structure of
Constitution) gasrea 0K ?

(1) <@ deIg, gaca A6QIe MIARAS QA
591 gAI@ QRIF 629 AARQE FAIARIER

QIR

(2) Qedie quUAIRE ARe d° QI AR
QIRY AIFRIEa T°AR, AAMIFS 6A6ET
o0g Q°EEINe @G aIfce 6QIm QY

6QRER
(3) eqIRefI SRIA AGIe AR AN
q6RIe QYIRIRG QUG 6QRYSH 64, Il
368 6a 6997 QAdIQ A°6HRUTA gl
23, Bg Q°Aeg AAUGQ 64 6TEIT 26,
Qreaie e 94 anel FUIAIRRE

(4) 6ae QI8 9qIF 6a8 AARA AN
Q6SIe YIRS 601R@ SI0R ARI8Q QAR

ataem
163
263
264
164

(A)
(B)
(@]
(D)

G6Ig 692 QIAGAIT A, ARG ARG
42¢9 QAR Q6se Al 1976 216
2399 6TIRARN ?

(1) uen24(A) (2)

A1 28 (A)
(3) w39 (A) (4) w43 (A)
(5) w46 (A) (6) u48(A)
(7) 144 (A)  (8) 1323 (A)
A 1,3,567
B) 3,4,667
C) 2,5,768
(D) 1,3,568
[P.T.O.



79. Which of the following statements are
not correct in respect of Union List of
Seventh Schedule of Indian Constitution?

(1)
(2)

There are 100 subjects in the List

This List signifies Co-operative

. Federalism

3)

4)

A)
®)
©)
®)

80.

There are 15 subjects in the Union
List on which Parliament has an
exclusive power to levy Taxes

The Supreme Court has no
jurisdiction over the matters in
Union List

l1and3
1and 4
2and3
2and 4

Which of the following are Non-

Constitutional Bodies in India?

(1)
(2)
3)
“4)
6))

(6)

)
®)
©

D),

CSP-1/B

Tribunals

National Investigation Agency
Competition Commission of India
Law Commission of India

National Commission for Scheduled
Tribes

Comptroller and Auditor General
ofIndia

1,5and 6
2,3and*4
3,5and 6
2,4and5

36

79. Geqig 69d QUYEe, AGGI ARG AgA
Qo1 IAER 698 SRR 2qaIal OR g6 ?

80.

(1)
2)
3)

(4)

(A)
B)
©
D)

clRsiea 100 & Saa 28
SIBRIE aneIa T AINRIeg 901aT

cegelRica 15 & ol Gee 28 il
QEER Q°Ae YOR BFISI YRR TRAILY
QaIqe

6REOIRR DEACA AEIIE ARG 61T
2geTa @aaIge aIF :

163
164
263

264

FAAUIQ 6QLYER RAGER AGAIRAUIFTR
aAAIQ ?

)
)
3)
(4)
(3)
(6)
(A)
®)
©)
D)

QIR

RSO AYARIE Q°gl

AR FosaIdel @fag
AR AR *FAR

2QJEe SRR RG1A QFiag
QARG FAQAR B ARICAUIKIN
1,586

2,364

3,566

2,465




1. Which of the following Statements are

not correct in respect of the Election
Commission of India?

(D)

)

A3)

(4)

A)
(B)
©
(5

Art. 327 gives power to Parliament

to make provision with respect to
elections to Legislatures

Besides Chief  Election
Commissioner, two Additional
Commissioners were appointed for
the first time on January 1, 1990

The Election Commissioner
Amendment Act 1990 made the
Election Commission a Multi-
member body

The decisions in Election
Commission by the members are
made by unanimous vote.

2,3and 4
1 only
1,3 and 4

1,2and3

82. The Impeachment of Indian President in
the Parliament is a

(A)
(B)
©

Political Procedure

Legal Procedure

Quasi-judicial Procedure

(D) None of these

CSp-1/8
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81.

82,

feqlIg 699 @B9Ee Qe Adlen *FAR
adegatea O] g6 ?

(1)

(2)

)

4

(A)

(B)
©)
(D)

Q327 a°Qeq FdIQ ARl FIeR
QIgIQ FFG! 62T

gey Faiee *fideas SIe1e gR 2GAg
efigrag gan aa aix 1990, sigaia
1 6@ GgQ !AAIRAUMI

folee efigea AsarIe a1l 1990,
adIor @fidng 99949QY AR KRR

alee @fiaree Fgaqgee deaufiew
QARAIE 6RQUG 2ARIAEA 6LINAIN

2,364

eaen 1
1,364

1,263

Q°AL6EQ VAR QUYAGE FIRINCAIT §2RT—

(A)

(B)

(©)

(D)

QUNEToR gFal

ARG gRl

ae-quIda gia

ead Qed

[P.T.O.



83. Which of the following statements are
not correct in respect of Advocate
General in India?

(1

2)

3)

4

(A)
(B)
(€)
D)

84.

The Advocate General is the
highest Law Officer of the State

He is appointed by the Governor on
the advice of Chief Justice of High
Court

He should be cligible to be
appointed as the Judge of a High
Court

He/She should not be more than 65
years of age.

1 and 4
2and 4
2and 3
land3

Which of the following statements are

not correct in respect of Private Member
Bill introduced in Parliament?

(1)
(2)

(3)
(4)
(A)
(B)

©)
o).

" CSP-1/B

A Private Member is any Member
of Parliament other than Member
of Treasury Bench

The Bill of this nature are
introduced and debated only on
Mondays

It’s introduction in the House
requires One Month notice

A Constitution Amendment Bill
may be introduced either in Lok
Sabha or Rajya Sabha

3and 4
2and3
] and 2

Jand?3

38

83, QU999 2IP6IEas 6REAAING JREITIER 624
29q0e O] ge< ?

84.

(M

(2)

3)
(4)
(A)
(B)
©)
(D)

2IF6RI6RT 6FEAAM AR QA6 AR
Il

A9RYIARHR QHIGeIeads AU
2QQI6R BIF, AIAIR Y 93213

640 QERYIAIRARQ FIQAG 62UG 64Ty
QIRQ 999 65 edq éam 621992
164

264

263

163

26919 629 TYER A°ATEQ 6AAARIA TR
QAQIG gAerea OR q6< ?

(1)

2)

3)

4)

(A)
(B)
(€)
(D)

F66l 6QAARIAT AW, AARJAANGR 1S
646164 QArae

8 @R QAQIAe @ RIS 699Q
6QIARIACR 6QIN2IN

Q6Q YL QAYIAR QIR IR AIAR 6715
2R R6Q

64T QRAUIF AEARIF TR ERIGAR Q!
AUNMARNER RAYIAR FAUAINAIER

364
263
le2

163



g5. Which of the following Statements are

86.

correct in respect of Antj.

o Defection
(1) Anti-defection Law foyng place in
the Constitution by 52nd

Constitutional Amendment

The Tenth Schedule of Indian
Constitution was inserted in the
Constitution in the year 1989
The Anti-defection Law was
reinforced in the year 2002

Ifany Member who is independently

elected joins any political party, he
is not disqualified

2 and 4
1 and3
land 2
3and 4

2)

G)
(4)

(A)
(B)
(©)
(D)

Which of the following statements are
correct in respect of ‘Special Sessions’
in Parliament ?

(1) The term Special Session of
Parliament is defined in Art. 85 of
Indian Constitution

Art. 352 (8)(b) of Indifm.
Constitution speaks about Spe'cml
Sitting of the House of Parliament
The proceedings of'both tpe
Houses of Parliament 11 special
sessions would be limited -
If proclamation of Emergency 18
issued when the parliament is not
in Session, 1/3 of Lok Sabha and
1/3 of Rajya Sabha Members can
ask the President 1O ?onvene a
Special Session of Parliament

(A) land2
(B) 2and3
(C) . 2and4
(D) -1and 3

(2)

3)

(4)

CSp.1/

.
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85. @neon Geall INR JATEQ TEQI8 QW

86.

2@gee O ?
(1)

giaiea 52 ef AedlIFEa 9 IR
deqiI 2199 Qe AR

1989 ca QAMIGR @4¢ 991 2B
Sl=taal

(2)

3)

2002 60 @R-99@ G6QI1 IR Q AIFE
QF *AUAIRAR! :

g% 6alad deai YRIIT AR F]Ie
621Q26, 6d 64 6xl6d QREQ AIFR
C26A BlF AQAITI FIRG CRARIE |

264
163
162
364

(4)

(A)
(B)
(©)
(D)

QAR - YOG AUCIER JUATER F6FIQ 69Q
Qa9ee O] ?

(1) «@eeie qhdiee dQl 856a a°qeq
J99 UNEILRRQ AR QRS

(2)

RAB1A Qe il 352 (8)(¢) sa
QAR YR 2UERIRQ QSRS 2T

3)

Jof 2AYEALREQ A°ACR Q@D AQQ
RIUISR! QIEe Q6L

4)

QAT AEQAR QAR 696R AQ [QA!
AGHS 6QAIVAI QAN 606R ERSANIQ
NS QOlaPd 8 AUMANR IR QRQE
QAQQY AFYATY, A°AQ Ye] 2RU6ELAR
QIR (e QLAIed

162
263
264
163

(A)
(B)
(C)
(D)

[P.T.O.




87. Which of the following statements ar¢

88.

correct in respect of ‘Due process of
Law’ and ‘Procedure established by
Law’?

(1) ‘Due Process of Law’ focuses on
the formal adherence to legal
procedures set by the Government

(I) ‘Procedure established by Law’
emphasises the protection of
individuals Rights and fairness in
the application of Law and Legal
Proceedings

(A) Iliscorrect and I is not correct

(B) IIis correct andI is not correct

(C) BothlIand Il are correct

(D) BothIandII are not correct

Which one of the following is necessary
for Pressure Groups to be effective in
influencing Government Policy?

(A) Large number of Members
(B) Access to media outlets
(C) Money and Expertisc

(D) Legal support

CSP-1/B

40

87.

88.

aiaqa gaid ggal (Due process of Law) 6
alae Qlal géde geaie1 (Procedure
established by Law) gaaeq 86qIg 69
QQ9ee 0 ?

(D aese g2ld geal A0 QIal goae
Q19 QUSYIQ TSR AQUIRE QU6 YT

[

oy

‘2108 QI gede gaiet’ fI9tedaI1eea
2R B QUITR 21692 69Z6A 64T
IR B IROIQ Gl &4 |

(A) I0gaellan
(B) IIdrelgm
(C) eealcelldg

D) eealcllgn

QRIS YU FEANAIRN YARINQ 696E
ciaeqIgt (Pressure Group) Qist 211Q44Q ?

(A) 2@ e a9y
(B) @A Qe asaiq

(C) =d 6 a@mel

(D) ueqde agiae



89.

90.

Which of the followip

are
Substantive Public Polg v Correet?

ICIes are those

which;

(1) plan and programme (g get things
done

(2) alloc.:ate resources/services to
particular segments of larger
society

(3) directly distribute benefits or costs
for citizens

(4) impose restrictions on behaviours

(A) land4

(B) land2

(C) 2only

(D) 3only

Which of the following policies provide
a Tax refund on all or part of a poor
family’s Social Security Tax?

(A) Temporary Assistance 10 needy

families
(B) Earned Income Tax Credit

(C) Food Stamps

(D) Supplemental Gecurity Income

CSP-1/B
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89. T6qIg cauqoa OR ?

90.

Qelge Aeese Meqee oI, IRl
(1) QIduIgeqa aid 6a1ea! 6 AILIGe

Q2ae AAIGR 6QIGIQIR AAR/6AR]
6IFIRS! QUAg

(2)

QIGRAINE dIE gEIARIER AR @ MY
Q4R

3)

21996 RUER ATRE NGRS

4)
(A) 164
(B) 162
(C) 6aar 2
6@e% 3

(D)

F6QI9 6990 691G gFe afQIea AT
gogl TRAQ 2°8 QI AYQIA TR ETAIRSI QUG
Ga ?

(A) 9de adQIegEq NG ATInC!
(B) &G 2199 690
(C) sy q1g

(D) =569 geal 2Ia

[P.T.O.




91.

92.

(D)

Which of the statements about Public
Policy are Correct? ‘A Public Policy
may be;

(1)
(2)
(3)
(4)
A)
(B)
©)
(D)

General or Specific
Broad or Narrow
Positive or Negative
Rational or Irrational
1,2and 4

2,3and4

1,2 and 3

1,3and4

Which of the following statements are

correct in respect of “Distributive Public

Policy’?
(1)

It is also known as ‘Patronage
Policy’

(2)

It is meant for specific segments
of Society

(3)

It is concerned with regulation and
control of goods and services

“4)

It requires little administrative
discretion

(A)
(B)
©)

1,2and 4
2,3and4
1,3and 4

1,2and3

CSP-1/B
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91.

92,
~ agegatea 0] 2

feale 6R4 25geR QI9eae 18 adegagg
0] 7 66IEq ATRER F16 I8 ?

(1) aries QI 38

(2) g9g < AgHe

(3) qsmélcm Ql ARIQUAR
(4) 939we QI eRLIR
A) 1,264

(B) 2,364

C) 1,263

(D) 1,364

F6q19 629 2898 ‘aidede 9ae 91§

(1) w2 aw ‘Qesaise 913 qige aQiee

)
3)

N2 A9 §8Y caIgl/ede aid @

\'IQI_ QIAg1 8 aRIq adoingl 6 aaqd
AR Qg

4)

N2 G891 9aIQte Seqoq) QAR [6R

A) 1,264

(B) 2,334
©) 1,364

(D) 1,243



93.

94.

Which of the Articles of Indian
Constitution relating to Fundamental
Rights are not available to Foreigners in
India?

(A) Articles 14, 20, 21, 24 and 26

(B) Articles 21, 21(A), 23, 25 and 28

(C) Articles 14, 22, 25, 26 and 28

(D) Articles 15, 16, 19, 29 and 30

Which Four Amendments to Indian

Constitution given below are related to
Scheduled Castes and Scheduled Tribes

in India?

List of Amendments to Indian

Constitution:

1, 8, 19, 29, 46, 65, 95, 102
(A) 1,8,65,95

(B) 8,19, 46,102

©)

19, 46, 65, 95

(D) 1,19, 29, 65

CSP-1/B
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093. QUAEID TANIRA 6AIRe IR AAND 69Q

94.

UAIFER NOG6R TEREFIRT AIR QGG GEE ?

(A) e 14,20,21,24 626

(B) aiai 21, 21(A), 23,25 628
(C) wiar 14,22, 25,26 628

(D) ai15,16,19,29 630

QUGN ARUIGR F6EIQ 69Q FIREHIT AL
QNG AFYES [T 8 FARTE QNG ?

alamé QAR A°CARIF CIRR :
1, 8, 19, 29, 46, 65, 95, 102
A) 1,8,65,95
(B) 8,19, 46, 102
(C) 19, 46, 65, 95
1, 19, 29, 65

(D)

[P.T.O.



95. Which of the following statements
are not correct in respect of ‘Right
to Privacy’?

(1)

(2)

(3)

(4)

&)
®)
©)
(D)

The Nine-Judge Constitutional
Bench that declared ‘Right to
Privacy’ as Fundamental Right

was headed by Justice J.S.

Khehar

The Supreme Court of India
gave this historic judgement on
August 24,2018

Justice J.S. Khehar was the
former 42™ Chief Justice of

India

He was appointed as Chief
Justice of India in the year 2017

2 and 3
1and 2
2 and 4

3and 4

Which of the following is not included

inArt. 19 of Indian Constitution?

96.
(A)
(B)
(®)
D)
CSP-1/B

Freedom of Speech and Expression
Freedom of Movement
Freedom from Detention

Freedom of Association
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96.

95. ‘qigee 2@’ (Right to Privacy) e

G6qlg 699 Q9gee Ox g6w 7

(1)

2)

(3)

“4)

(A)
(B)
©)
(D)

QUAFE 69.499.69210F AUTAIER 900
@’ edal AAAFR €8I0 ‘QYGAe
R G 6A1RR ARIA VI A4

Q86em

2018, 26g 24 6Q UAGR A6HIQ
QUIaIRe 2 J5eI9e QY 6Q e

QYIRS 68.49.692I1Q AAGA AP
QuIRoa 4269 g S9I0aT

64 QIQEQ gedeias ause 20176a

. @99 6LIRYUM

2383

182

264

364

D6AIQ 69QT NRGIA AAIQR 2Rl 199 2838
Q6L ?

(A)

(B)

©)

(D)

QIR QRIKSI 6 KAIGRAA

UERINARX QINGS! (Freedom of
Movement)

eI Qaeel (Freedom from
Detention)

Q°A8  QIeel (Freedom of

“Association)



97.

08,

In which of the followin
'Declaration of the Rights
was passed by UNQ?

g years the
of the Chjlg'

(A) 1949

(B) 1951

(C) 1956

(D) 1959

Read the following statement given below
and choose the correct alternative

Statement 1- Land degradation is caused
due to soil erosion and waterlogging

Statement 2- Deforestation is the major
cause of soil erosion

(A) Both are correct:

Both are incorrect

(B)

Statement 1 iS correct and

statement 2 is incorrect

(©)

Statement 1 is incorrect and

statement 2 is correct

(D)

Csp.1/p

45

97. GF6ig 609 adelea R1GAa QU ‘Ag@m

98.

2RRNQAGD 6ENTEIRIC UFEADD 6RIREYMI 7
(A) 1949
(B) 1951
(C) 1956

(D) 1959

PR 209Pe 9@ weia A0e IRy Aga
ea 1

Qg 1 - (el 99 6 eegdel 6a1q /fia aeaa
acana

Q3 2 - qorm 08 ¥ 80 999 994 Q194
(A) @90

(B) <ea gm

(C) gan a3 0] 6 {e1a acj ol

(D) gaq od 9 6 §o1a o

[P.T.O.




99, Land degradation in India happens ata 99. QIREER 9gF FIgIEa GNa UATL AgR | ¥aIa

very large scale”, because RIQE -
(A) Inadequate soil conservation (A) @ege qeal raad QIR AV
measures

(B) zoyye o194
(B) Overgrazing

(C) Both(A)and (B) (€) aea(A)e (B)

(D) None of the above . (D) NgER AMIQ 684G qe<

100. “Thereis a huge loss of valuable nutrients | 100. Queseq qaieie 98 6 Qdasia QuIae 56
and fertility in India”. What are the AQYS 4 | N2Q QG -
reasons for this?

(A) Soil erosion (A) eel ag
(B) Land degradation (B) «fiaaqgq
(C) Water logging (C) seqdel
(D) Air Pollution D) g geaa

CSP-1/B 46



